DU MA Political Science

Topic:- DU_J18 MA_PS_Topic01

1) Collective Security System of the UN is based on the principle of:-

Hgad s 99 A GEfes GRaT goner fhe fgua wosmaRa of-

[Question ID = 226]

1. Balance of power to be maintained by state of equilibrium / SESICIS] & Q” Ul Fd 3 E.-_u T T Hetie] [Option ID = 904]

fwm%@,:ﬁaua;a:ﬁv

2. All for one, one for all [Option ID = 901]

3. Imposing sanctions against the belligerent state unilaterally /

rfFaermell ST & CaRT TI&T & Jaeed

4, Maintenance of security by the major powers /

Correct Answer :-
= All for one, one for all / Th Hdeh ﬁ'ﬂ'. SERC I E

[Option ID = 901]

2) Abul Fazl represens the fusion of:-

3Hg-Botol A e TSI &-
[Question ID = 284]

IEF ARG TAdAIdS [daR

1. Arab Indian political thought / [Option ID = 1134]
2. Indian and Chinese thought /MG - I fefd= [Option ID = 1135]
SOH & @I 6
3. None of the above / [Option ID = 1136]
4. Persian-Indian paolitical thought / [Option ID = 1133]

Correct Answer :-

qRAT-8TA Toelfde [da)

» Persian-Indian political thought / [Option ID = 1133]

JeUsNI T & [Ee® Thalwr Sfdaer o

[Option ID = 903]

[Option ID = 902]

3) In 1945, the new organization called the United Nations pledged “to promote social progress and better standards of life” because:-

1945ﬁw#mﬂm§mﬁﬁﬁgﬁwmwwmu
wrAfsis warfa 3R Sfae # agaR JoTadr dgTel aar oar adife

[Question ID = 231]

1. It was competing with other international organizations like the World Bank /

U8 0 SaRiPTg wel o fay e & ay ufereayf 3 %€ 1 [Option 1D = 924]

2. The colonized countries had started to exert pressure on the international community /

a2 A SiaRiEiy FHTe TR <a1d ¢ Y & A1 U1l [Option ID = 923]

3. The founders of UN considered it to be a white man's burden /

Hya Ay & Pl 58 @7ge 77 987% U # 2w@d 4 [Option ID = 921]
4, The UN Charter draws a link between international security and global poverty and development /

qu =R F ofeRTta WRen, afys mid ofik e & e te H<t & $9 & @1 [Option 1D = 922]

Correct Answer :-
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= The UN Charter draws a link between international security and global poverty and development /

quA AR A HRIPT WRen, I T R e F i oF F91 F T H 3@ [Option ID = 922]

4) Structural Functionalism as a method was developed to study the politics of:-

TAAIcHS ThaTcAsdrare &1 fasr ve geufd & 39 # fog Toeifa &
g & fore fohar aram

[Question ID = 207]
Aeraeier 2ot $r gafa
1. Politics of developing countries [ [Option ID = 828]
R T A [Option ID = 826]
Wedd gaildic

3. Advanced Capitalism / i [Option ID = 825]

sryfas FawafasRdg

2. Developed Socialism /
4. Modern Totalitarianism / [Option ID = 827]

Correct Answer :-

fawraefer got &r g=ifa

= Politics of developing countries / [Option ID = 828]
5) Which of the following statements is true of the Social Contract of Hobbes?

fAmafaf@a # @ Sia a1 Fu9 gled & TAeid Gasilar ax 7 6 g7

[Question ID = 250]
1. Everybody gives up their right of governing themselves. / Tl cafdd 30e IW AT Fel T HEAFR AT &

2. The Leviathan is a party to the contract. / afaamere e et sl E E 3,“_'" al [Option ID = 999]
a5 GAESAT SchAvIT (3oes AEA) B

3. The contract is reversible, / [Option ID = 1000]
4, The contract takes away only some of the natural rights. /

TSGR $8 Wipiae iR 5 ar dferd & {31 Siar €1 [Option 1D = 998]

[Option ID = 997]

Correct Answer :-

= Everybody gives up their right of governing themselves. / “ N ol : %[ [Option ID = 997]

6) Which of the following is associated with pluralist Theory?

frafaf@a & ¥ e agoardr Riquia far &2

[Question ID = 265]

1. Charles Taylor / [Option ID = 1060]

druse Ao

2. Wright Mills / [Option ID = 1059]

faersher Rer
3. Vilfredo Pareto / [Option ID = 1058]

S
4, Robert Dahl / [Option ID = 1057]
Correct Answer :-

spol
« Robert Dahl / [Option ID = 1057]
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Which of the following is not a Special Minority right endorsed by Will Kymlicka?

FafeEaa 7 9 0 Qo At a [afEse Jcuueas #NER =R a6 fear

[Question ID = 266]
ag-TSATdr RN
1. Poly-Ethnic Rights / [Option ID = 1061]
-8 AT AfUER
2. Territorial Autonomy Rights / [Option ID = 1063]
3. Special Representation Rights / ? [Option ID = 1064]

4, Self-Government Rights /
W-RWHR &1 HfUHR [Option ID = 1062]

Correct Answer :-

AT T AEER
» Territorial Autonomy Rights / [Option ID = 1063]

8) Which of the following is not an idea associated with Jeremy Bentham?

PrfafaT # & Fa @ ReRuRT Rl Jr & 38 68 78 B

[Question ID = 267]

afFdard HOFR Herae ¢

1. Individual rights are inviolable / [Option ID = 1067]

UAs Hedd TaaAdl & 3oagd o
2. Every Law is an infraction of liberty / o [Option ID = 1066]
3. It is the greatest happiness of the greatest number that is a measure of right and wrong /

e 3R Teld &1 719 BT SHUBR Siftiday v &1 siftiead @ g [Option ID = 1068]
wihfdes HfEFHR FEl q@RT @h3r & AR W AFA G

4, Natural Rights are ‘Nonsense on stilts"/ = [Option ID = 1065]
Correct Answer :-

= |
« Individual rights are inviolable / i [Option ID = 1067]

9) Which of the following books deals with the concept of “Civic Virtue"?

frafaf@a 7 @ 5w FFR% 7o &1 faqaa sedd fasar am=m?
[Question ID = 249]

CIERIPC]
1. Leviathan / [Option ID = 996]

g Hrere Flecae
2. The Social Contract / [Option ID = 995]
: g B ;
3. The Discourses / [Option ID = 994]
o
4, The Republic / [Option ID = 993]

Correct Answer :-

= The Discourses fa [Option ID = 994]

10) Which one of the following depict the Westphalian Constitution of World Politics?

(A) Sovereignty
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(B) Territoriality
(C) Autonomy

faeg Uaa &1 drehfer g 7 g o g I -

%) [
@) -

1) TarEET

[Question ID = 232]

1.Band Conly/ Pa & IR (option 0 = 927]

&, W, I .
2.A,BandC/ [Option ID = 925]

Fad & I @ _
3. Aand Bonly / [Option ID = 926]

4. None / Hﬁ [Option ID = 928]

Correct Answer :-

L] ¥

oh
« A, BandC/ [Option ID = 925]

11) Which one of the following is the position of the ‘transformationalists’ in the debate about globalization?

HASIERUT & faarg & west #/ uRaderanaal (Transformanist) &T & ufd
%_
[Question ID = 209]

1. States are losing power and influence as a result of globalization. /

T A U fF 7 U B @rar aRoTHEEy yHSdEI0 &1 369 §3MT| [Option ID = 833]

2. States remain in charge of globalization and have even managed to expand their capacities for regulation and control. /

T anfi off yrHseieo & fow IeRerdt § aun 98 Fame a = & fae s e fawar @1 veyE St 81 [Option ID = 835]
3. States are becoming stronger in some respects and weaker in others as a result of globalization. /

YHSHIH0 & TRUTIESY Ied &0 S o a1 af uigr Aeiey 8 T a1 fihe 41T $HER [Option ID = 834)
4. All of these /

TuRigd # ¥ Tt [Option ID = 836]

Correct Answer :-
= States are becoming stronger in some respects and weaker in others as a result of globalization. /

YHSHHIV & UNRUTHEEY o9 $ SeH # a1 al 4TST Aorgd 8! 741 41 fihY UisT #HeIR [Option ID = 834]

12) Which one of the following is and example of * Social Audit'?

frfaf@a & & la e 31fEe (@fsia 3iFaTon) &1 IEEI0T AT Sdr 872

[Question ID = 363]

HALT

1. MNREGA / [Option ID = 1449]

HREIATS

2. RTL/ [Option ID = 1452]

3. RTE/ [Option ID = 1451]

4. NRHM / e e [Option ID = 1450]
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Correct Answer :-

HREI3TS
« RTI/ [Option ID = 1452]

13) Which one of the following is not a model of public policy making?

Aafefaa & @ ala aeata [Aaor gal asa J6 o

[Question ID = 298]

AT Alsar
1. Elite Model / [Option ID = 1190]
arfas Ao

2. Rational Model / [Option ID = 1192]

JTAETd HAIS
3. Institutional Model / [Option ID = 1189]

4, Transformational Model / ikl S [Option ID = 1191]

Correct Answer :-

« Transformational Model [Option ID = 1191]

14) Which conception of liberty Isaiah Berlin defends in his essay "Two Concepts of Liberty?”

amgforar afefa 7 o= fay z &9y o et fw ave 3t Tadaa & g sgem 82

[Question ID = 238]

AFRICHS IR TAFRIcAS Tadadr grar
1. Both Negative and Positive liberty / [Option ID = 949]

HhRIcHS Tadadm
2. Positive liberty / [Option ID = 951]

dhRIcH® Tadadl
3. Negative liberty / [Option ID = 950]

s & FIS g

4. None of these / [Option ID = 952]

Correct Answer :-

dhRIcH® TadAdl
» Negative liberty / [Option ID = 950]
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Match the following

1. Plato A_ The Law of Peoples

1.  Rousseau B. The Subjection of Women
m.  Rawls C. The Laws

w. J S Mill D. Emile

AT &

) oY A E o 3% diged
i) FEY B ¢ Heolde 3% dHd
i) 3R C &dlist
iv S.og A D éﬂréﬂ

[Question ID = 771]

1.1, C; ii, D; iii, A; iv, B [Option ID = 3082]
2.i, A; ii, D; iii, C; iv, B [Option ID = 3083]
3., A; i, C; iii, B; iv, D [Option ID = 3084]
4.1, A; ii, B; iii, C; iv, D [Option ID = 3081]

Correct Answer :-
« i, C;ii, D; iii, A; iv, B [Option ID = 3082]

16)

Match the thinkers with their corresponding texts and choose the correct answer from

the code:
(A) Thucydides (1) Politics among Nations
(B) Morgenthau (11) Theory of International Politics
(C) Kenneth Waltz (111) The Peloponnesian War
(D) Machiavell1 (1v) The Prince
fArfaf@a de & A &
&) sAdEEE i) aTfefeas AN J2ra
@) Arfaus ii) LAY HTE e ifeifea

1) erer areicst iii) g fhreiu=faa ar

) AfFmaer iv) ¢ g

[Question ID = 278]
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1. (A)-(iv), (B)-(), (C)~(ii), (D)- (iii) / & iv) & i) T ii) T iii) [Option ID = 1112]
, (A)-(1). B)-(u). (O-(v). D))/ i) @iii) Tiv) Fi)

5. (AH. (B)-(w), (C)-(m), (D)-(v) / & i) i) Wiii) Tiv)
5, B, B)-0). (O-G). D) i) @) i) Tiv)

[Option ID = 1111]
[Option ID = 1109]

[Option ID = 1110]

Correct Answer :-

. A)-). B)-O). (O-@). @) i) @i) i) Fiv)

17) Match the following?

a) Politics is the art of the possible 1) Aristotle

b) Man is a political animal 2) Harold Laswell

c) Politics is about who gets what, when and how 3) Otto Von Bismarck
d) Politics as ‘capacity of acting in concert’ 4) Hannah Arendt
gaferd #3-

&) I Jurfael &1 Far @ 1 3%

W) 9™ TS Teita wroft @ 2 e arwaa

) IeHITT fFEa &, Fe iR B AT ® 3 3fid) 9 fawd

) TSI T Y WIS $31 31 &HdT 8 4 AT INE

[Question ID = 269]

a2, blc4d3 / s2@1a7493

a3, blc2dd4/ F3@17294
2. [Option ID = 1074]

a—l,b4,c—2,d—3/ F1@47293

[Option ID = 1075]

3. [Option ID = 1076]

a4.b3,c2.d1/ F4@3T29 1
4, [Option ID = 1073]

Correct Answer :-
a3, blc2dd4/  F3@I1M2T4

[Option ID = 1110]

. [Option ID = 1074]

18) Which among the four Vedas gives importance to Indra in its hymns?

IR a1 A { FleA 39 MA A 55 F Aped B G¥Id AT 07
[Question ID = 292]

qTHdG

1. Samveda / [Option ID = 1166]

2. Atharvaveda / [Option ID = 1168]

e

3. Yajurveda / [Option ID = 1167]

4, Rigveda / [Option ID = 1165]

Correct Answer :-

_ ETL ,
« Rigveda / [Option ID = 1165]
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19) When was gender mainstreaming adopted as official UN policy by the UN General Assembly:-

HYFd IS¢ AR @RI U I THA AIfd F Fa S5y FEI-URT H SHsT
Iram?

[Question ID = 296]

2000 ,
1. [Option ID = 1182]

, 1996
2005
3. [Option ID = 1183]

1980
4, [Option ID = 1181]

[Option ID = 1184]

Correct Answer :-

1980
. [Option ID = 1181]

20) 14th SAARC Summit held in New Delhi in 2007, stressed on:-

- 14 a ek TFAere 2007 # @i el # 3fSa har aar e #ea 39
ﬂ.

[Question ID = 225]

-84 FaAfoefael O do f&ar =
1. Improving intra-regional connectivity / [Option ID = 897]

aF & AeEdl 1 faedar df ae 9 o [Option ID = 900]
% & iR caweiy Gl & ufd yfdecuar @ I

HeT 8T oA F b I Sisa 9 I
4, Connecting SAARC with other regional organisations / [Option ID = 899]

2. Not to extend SAARC membership /

3. Commitment to bilateralism within SAARC / [Cption ID = 898]

Correct Answer :-

HR-8A Fafaefad W ao ar
« Improving intra-regional connectivity / [Option ID = 897]

21) Kabir is considered a political theorist because:-

HdlT safelv T6lfd RcurdsRr AT I wifed

[Question ID = 285]

3egied Sled HATHIRA Ugdlel X Hdiel 3017
1. He questions birth based identities / [Option ID = 1139]

d &fd &
2. He is a poet / [Option ID = 1137]

3. He is a feminist / d ‘ A [Option ID = 1138]
=2
4, He is a potter / [Option ID = 1140]

Correct Answer :-
3egid oled HATHMRA Ugdlel X Hdiel 3017
= He questions birth based identities / r [Option ID = 1139]

22) The materialist conception of history views history.

sfaere & el siifaward faRumr & seeR, sfaem
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[Question ID = 276]

HAST & Goldl ¢ Sitieh Jepstias fafer & fawa §

1. As creation of men subject to empirical laws / =

ATl SaiFd & TRaTeendl SarT HER ued §

[Option ID = 1103]

2. As shaped by acts of great men /
v gRgear &1 gRons

3. As result of accident / [Option ID = 1101]

foelt aifa-snepfae erfera & g@rr o g3m &

[Option ID = 1102]

4. As imposed by supernatural powers / [Option ID = 1104]

Correct Answer :-

mﬂm%a‘tﬁaﬂ@ﬂﬁmﬁﬁiﬂﬁw%

= As creation of men subject to empirical laws / 7 2

[Option ID = 1103]

23) Who among the following is called Father of Liberalism?

frafaf@a & 3erag & Rar & sad 82

[Question ID = 260]

1. Hobbes / [Option ID = 1038]

e

elleh
2. Locke / [Option ID = 1039]

3. Machiavelli / [Option ID = 1037]

4, Rousseau / [Option ID = 1040]

Correct Answer :-

e

ollch
» Locke / [Option ID = 1039]

24) Who among the following is not a postcolonial theorist?

frfaf@a & @ S secaiufaRe fReiasr 78 &

[Question ID = 240]

qref wresit

1. Partha Chatterjee / [Option ID = 958]

ared FHfawr=
2. Sudipta Kaviraj / [Option ID = 957]
3. Karl Marx / [Option ID = 960]

gIAT &, T

4. Homi K. Bhabha / [Option ID = 959]
Correct Answer :-
« Karl Marx / FTel HTR [Option ID = 960]

25) With whom would you associate Cave Allegory?

farfaf@a & & #la a1 797 garT & 9F¥dd HAT 82
[Question ID = 256]

HIT]

(9

1. Aristotle / [Option ID = 1021]
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==l |
2. Plato / [Option ID = 1023]

3. Hobbes / [Option ID = 1024]
4, Machiavelli / [Option ID = 1022]
Correct Answer :-

» Plato/ [Option ID = 1023]

26) What is the central assumption of Modernisation theory?

JryfAiaoT Rcyid &1 Ferd Addr &4 §?
[Question ID = 242]

SHA & IS 61
1. None of these / [Option ID = 968]

2. All societies should follow the path which modern western states have adopted in order to become modern. /

Tft TATS & 3T AT FH IERROT A AT B Inyfaw ol s A

IyfAs ga i & fore srgemm o
[Option ID = 966]

el JArS Infas aote & fAT sreEr-sreEr A 39ad §

3. All societies should follow different paths to become modern. / [Option ID =
965]
T3l FATS P WRET 3G JOTll & il HUATAT a1ipT
4, All societies should adopt traditional modes of production. / [Option ID
= 967]

Correct Answer :-
« All societies should follow the path which modern western states have adopted in order to become modem. /

Telt A @ 3 AR T HGROT AR ARpe FE nyfaw ofvwdd s A

IYfAs Fea & e rgemm o
[Option ID = 966]

27) The South Asian Free Trade Agreement (SAFTA) has not been a success because of:-

1. Narrow export base of countries.
2. Lack of bilateral free trade agreements.
3. Political hurdles.

Select the correct answer using the codes given below.

& T3y ofire W 25 vl (arven) e @R 8 i
1. &or & difag @Aa 3uR
2. CAEl T AFd AR FAFAIAT H1 397

3. JSdiide 3sae (arem)

390Fd A AT v & F Tqd -

[Question ID = 214]

23114:130:1]}'/233?}-_&'@'
1.2and3 / 12 3R 3
; [Option ID = 856]

land2only /1 @ 2 &ae
3 [Option ID = 853]

land3only / 1 7 3 Faw
4,

1 [Option ID = 855]

2

[Option ID = 854]

Correct Answer :-
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1 and 3 only / 193 &ad
. [Option ID = 854]

28) Under the Indus Water Treaty (IWT), India has been given the exclusive right over the rivers of:-

1. Chenab
2. Ravi

3. Beas

4, Indus
5. Satluj
6. Jhelum

Select the correct answer using the codes given below.

iy S FEsilar & Aada oRd A e 9 F 3W f[fse sfer gra

a7
l}i’rrna

2) [Er
3) =g
Y Ry
3) Hderst

6) Sield
farafef@d $et 7 & Ter &1 990 HL-

[Question ID = 219]

, 1.2and6only /1,2 3R 6 Faw
2,3311{150111}-‘/2,3 3R 5 Fad

[Option ID = 876]

2 [Option ID = 875]
13 and4on1}'/1,3 3R 4 Faa

3, [Option ID = 874]
1,2and3 only /1, 2 3R 3 &aw

4. [Option ID = 873]

Correct Answer :-
2,3311:150111}'/2,3 3R 5 Faor

[Option ID = 875]
29) Iqgbal's idea of community is:-

SohaTel 1 TATSA &I TIRURT &

[Question ID = 288]

RGO

1. Transnational / [Option ID = 1152]
2. Local / [Option ID = 1149]

3. External / [Option ID = 1151]

4, International / [Option ID = 1150]

Correct Answer :-

» Transnational / [Option ID = 1152]
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30) Marshall Plan was meant for:-

AT TISAT T 3T UT-

[Question ID = 224]

afees QR Qe Y Inieawr F gefAAT [Option ID = 894]
SE-3ARET 2ot 1 srsfeaean &1 gafawoT

2. Rebuilding the economics of the North-American countries / [Option ID = 895]

draY f@eg & 2o & fOiv rdegaer &1 [#or

3. Building the economics of the third world / [Option ID = 893]

3ThIhT it Y 3reegavar & GeifelAToT

1. Rebuilding Western European economics /

4, Building the economics of African countries / [Option ID = 896]

Correct Answer :-
gfgeedt aR1drr et & sdearar &1 geifaamr .
. 2 [Option ID = 894]

= Rebuilding Western European economics /

31) " Butin the long run, it would be in interest of all to forget that there is anything like majority or minority in this country and that in
India there is only one community...”"- who gave this statement in Constituent Assembly debate?

o qAT & e up @l & Ra A & & Ip @ ¢ 6 qu A Fo s
TEHEIT AT FEREAS ST FS §IdT ©, Tl 96 AR & 3R &ao vk TA
Giaurd §A7 & dlg-faare A fhaa I8 U« I5Rm o1

[Question ID = 303]
1. B.R. Ambedkarfeﬁ'm HFISH [Option ID = 1210]

TGR gl
2. Sardar Patel / [Option ID = 1211]
afsad Age
3. Pandit Nehru / [Option ID = 1209]
4. Rajendra Prasad /¥ ol UG [Option ID = 1212]

Correct Answer :-

TR gl
« Sardar Patel / [Option ID = 1211]

32) India has Kalapani and Susta territorial dispute with:-

ARAT & HIemare IR Jaar a7 &1 Qag fad amr @2

[Question ID = 216]

1. Bangladesh / d E”a T [Option ID = 861]
HCTod

LY

2. Bhutan / [Option ID = 862]

FITHR
3. Myanmar / [Option ID = 864]
4. Nepal / [Option ID = 863]

Correct Answer :-

collegedunia:s

India’s largest Student Review Platform




State autonomy is challenged in the "Post-Westphalian" order because:-

3 aveihfoldel cuaear A Usd Taadl & datfadr & 5 F#4ifd-

[Question ID = 230]

1. In a more interdependent world, national governments are forced to engage in extensive multilateral collaboration and co-operation simply to achieve
saA Afas Tada fawa, TQT WHR ' farga ag-val wgaergr @
FHFGIIUT FI THITAT T 36T & 9ed e & foe fmar smar
domestic objectives. / & ™ %I [Option ID = 919]

2. By comparison with the heyday of European global empires the majority of the world population and countries in the South are now much less integrated

SHH u@ﬁﬂmmﬂmﬁ?amwwﬁ.wﬁm

¥ gfaror & qr S el caaedr A THIFd Al © & &g defelm gl o
into the global system. / [Option ID = 918]
3. State power, nationalism and territorial boundaries are of growing, not less importance in world politics. /

U eifdd, asgarg 3R -8 WAEd & fAEdR g, sHer Apca faed
STl # &ds wH 61 ¢
[Option ID = 920]

4, Countries appear as autonomous containers of political, social and economic activity in that fixed borders separate the domestic sphere from the world

&er Tsteiticieh, @ASIe R nfdes Rt & g ags & 30 & S
dare AfYaa g1t § aur 398 R 87 apdr G F e g g

outside. / [Option ID = 917]

Correct Answer ;-
» In a more interdependent world, national governments are forced to engage in extensive multilateral collaboration and co-operation simply to achieve
SO 3fOF TaaA fad, T TWHR Y favdd I5-Fad FEaergor d
. qHeagqUl H AEEESAT 930 3adT H UIed ae & fere faRar S gl
domestic objectives. / o a

[Option ID = 919]

34) Who amongst the following is the exponent of Negative and Positive peace?

foiret A ¥ Fla dFRIcAS IR THRIAS Afd & T7E@ Feuidar &2

[Question ID = 234]

1. Kenneth Boulding. /1Y SITeSTT [Option ID = 933]

2. Johan Galtung. / [Option ID = 934]
UH.& Ted

3. M.K Gandhi. / [Option ID = 935]
CICREG]

4. John Dewey. / [Option ID = 936]

Correct Answer :-

» Johan Galtung. / [Option ID = 934]

35) Who among the following would you associate the concept of "Tyranny of Majority™?

AT 7 & 3T dgHd & HATER (tyranny of majority) & fa=¥ @ EEl 07

[Question ID = 251]

1. Rousseau / [Option ID = 1001]

e

=
2. Hobbes / [Option ID = 1004]

e
3. Mill / [Option ID = 1002]
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4, Marx / TR [Option ID = 1003]

Correct Answer :-

Fer
. Mill / [Option ID = 1002]

36) Who among the following talked about a 'Third Dimension of Power'?

farafaf@a A & sla afda Jaeht I srEte afa oW & arg #&=ar 82

[Question ID = 243]

§eell 3RC
1. Hannah Arendt / [Option ID = 972]

B HREIAT3

2. Hans Morgenthau / [Option ID = 969]

Frad dad
3. Steven Lukes / = [Option ID = 970]

e G

4. Michel Foucault / [Option ID = 971]

Correct Answer :-

Torae ol
+ Steven Lukes / = [Option ID = 970]

37) Who is the author of the book The Rights of Man (1791)?

frafafEa & § o9 7 75T, 7 3 7(1791) & 9@ 82

[Question ID = 275]

ATHT Ued
1. Thomas Paine / [Option ID = 1098]

s

Lt
2. Voltaire / [Option ID = 1097]

3. Mahatma Gandhi / Bl L [Option ID = 1099]

Ras sifda

4, Richard Dworkin / [Option ID = 1100]
Correct Answer :-

MAT U
» Thomas Paine / [Option ID = 1098]

38) Who is the author of the book "The high-caste Hindu woman?"

Prafifaa & Q 91 3 71 Piwe fig T TR® & 9@ 82

[Question ID = 241]

HRT Frendr _
1. Meera Kosamb / [Option ID = 964]

dLHAN HFISHT

2. B.R. Ambedkar / [Option ID = 961]
3. Pandita Ramabai / [Option ID = 963]
[HAETS =TS

4, Ramabai Ranade / [Option ID = 962]

Correct Answer :-
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« Pandita Ramabai /

[Option ID = 963]

39) The policy of structural adjustment was initially mooted by:-

mﬁmmﬁ;ﬁﬁfﬁa_ﬁmﬁmﬁﬁmﬁ

[Question ID = 206]

1. Dr. Manmohan Singh /

2. Third World Countries /

3. United States and other developed countries /

BI.AdARA e
Y faed & S

[Option ID = 821]

[Option ID = 822]

TgFd TS¢ d gEl 3ed fasfaa qur

[Option ID = 823]

4, IMF and World Bank / E 9 faea 3% [Option ID = 824]
Correct Answer :-
» IMF and World Bank / E q faea &% [Option ID = 824]
40)
Match the following

1. J.S.Mill A_ Deliberative democracy

1.  Schumpeter B. Proportional representation

i11.  Robert Dahl C. Democracy as a political method

1v. Cohen D. Enlightened understanding

g Hﬁ-

i) St.uE A A fameft aear

i) QAT B Ieurfas fderfiea

ili) TEE SE C WNhdd Ua s geufa & &9 A

iv Ige

[Question ID = 248]

1, B; 1, A; i1, D; 1v,

5 1, C:u, B D:; 1v,

, .B:n, Com, D;iv, A

4 1, A;n. B m, C; 1v,

Correct Answer :-

C
A

[Option ID = 989]
[Option ID = 991]

[Option ID = 990]

D
[Option ID = 992]

.B:n, Com D;iv, A

41)

[Option ID = 990]
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Match the following institutions with their corresponding functions:

a) GATT 1) lender of last resort providing technical
assistance and short-term flows of
stabilization finance to any member facing
balance of payment crisis.

b) World Bank 1) a provisional agreement between many
countries, whose overall purpose was to
promote international trade by reducing or
eliminating trade barners such as tanffs or
quotas for physical commodities.

¢) World Trade Organization 111) provides loans and financial and
technical assistance to support
reconstruction and development, with a
growing emphasis on the task of reducing
poverty.

d) International Monetary Fund 1V) a permanent institution promoting a free
trade agenda covering services, intellectual
property and investment issues as well as
pure merchandise trade.

Prafafa g &t

&) e i) HITATT The & Hcolol &l
TS #X @ R der @
HeqahTelled TATRIcT Jard
fad @Er™dAT d dehellchl
ggder, I AfAH IURSEn
& ¥ & giar gl

@) faeg &= i) U dlcalfold AT Heddfeld
gHSlar &% ot & &=,
fSiehr @got 3eded samR
a3t F g AT A
b HRTSEIT SATIR &l
gerar &aT 81 S sifaw
graEfaal ax eRE yar
BT

) fad SAUR ST i) gorEer 3R fawm & A
oiter g fad 3R aeihr

TRl Yeld &el U Iar
fotaror S 3egedl @ Hpca

ol

) RIS Hel HY iv) e TR EEAT S Hed
SO9R USAST &l deidl &
foa# dard, dicfas gufa a
fader & wafaq #Aeg &
ary-ary faeqey @maie
anfAer frar =m &

[Question ID = 229]
a-ub-m c—1v,d-1 _ii Wi Miv =i
/ ah-ii W-iii Miv G- [Option ID = 915]

a—iit, b—u c—1v,d=1 / Fjii @il Miv °-
/ il G-l Miv G- [Option ID = 914]

3, a—Lh—ij,c—iv,dniii/ &-i @-ii v Tiii

a-ii,b*-iiLc-it';d-i/H?-ii W-iii M-iv ©i
4, [Option ID = 913]

[Option ID = 916]

Correct Answer :-
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a—ib-uic—wv,d-1 / Fii GHii Miv T

. [Option ID = 915]

42)
Match the conception of power with the thinker
a) Power as capillary action 1) Antonio Gramsci
b) Power as enhanced capacity u)Hannah Arendt

emerging from collective action
c) Power as legitimate authority 111) Michel Foucault
d) Power as Hegemony 1v) Max Weber
offdd &I fIaRuRT dal faur 3R fauars & gafaa &1
&) oafea s HfEer Ghar i) Tefasd ameeht

@) ofFa wiHfes Rar garT 3fda aRsHa aHar (enhanced capacity) i) §e=il 3T
) efea v du wfasr iii) FArrer danr

") ufFd e eAEN & 39 F iv) e dR

[Question ID = 263]

a-1v, b-1, c-m1, d-u i i ] i
L 1, C-u1, / & iv) @ i) 9iii) i) [Option ID = 1050]

a-iit, b-it, c-v, d1 /i) @) Miv)  Hi)

- A [Option ID = 1052]
atbiacv. diil/ ) @) W) o i)

3, [Option ID = 1051]
a-if, btit, c-iv, d-1 [ & i) i) Wiv) T

4, [Option ID = 1049]

Correct Answer :-
adit, bl cv, d4 /i) i) Wiv) T
A [Option ID = 1052]

Match the following?
A_ Authors B. Books
1. Vishnu Gupta I. Harsh Charit
2. Kalidas II. Arthashastra
3. Bhartihan III. Raghuvansam
4. Banbhatta IV. Nitishatak
gaAfed &

A oEFH B Thaa
1. oy agcan ) wiaRa
2. FTelgd i) e
3. HeR iii) YEAAA

I
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[Question ID = 294]

i HEL2 N3 A0 [Option ID = 1176]

5 1(IID. 2(I). 3 (D). 4 AV) [Option ID = 1174]

3, 1AV).2(ID). 3 (D. 4 (D) option 10 = 1175
1 (ID). 2 (IIT). 3 (IV). 4 (I)

4, [Option ID = 1173]

Correct Answer :-

1 (II). 2 (II1). 3 V). 4 (D)
. [Option ID = 1173]

44) What does the concept Dialectic mean in Marxism?

Araiarg # HiSlg gdeaarg (Dialectic) & 31 §?

[Question ID = 259]

ARt & |9 9g-Hdca
1. Coexistence of Contradictions / [Option ID = 1033]

IWRFd asir

2. All the above / [Option ID = 1036]
5 : R !
3. Discussion [ [Option ID = 1034]
HARdcd &l FATALOT
4. Transfer of Essence / [Option ID = 1035]

Correct Answer :-

faremsTAT & 9 A-Hdca
» Coexistence of Contradictions / [Option ID = 1033]

45) In A Theory of Justice John Rawls gives lexical priority to:-

a) Liberty Principle over Equality Principle.
b) Principle of Fair Equality of Opportunity over Principle of benefit to worst off
c) Principle of benefit to worst off over Principle of Fair Equality of Opportunity
d) Equality Principle over Liberty Principle.

v LR 3TE SIEeT # S U3ed A Hrag wrafAwarn (lexical priority) T
Rcua &ar § &Ed §-
A)  FadAdT Rcuid & GAEar Reuid & W wraf@sar & a8 ¥

B) au $ fasyar FAEAT & Buid & fladd afda & ot § 3O Agcd
&t @ Rgua

O §FdH FI Hafaw o H HFEd H Avger FEEAr § 3W Agcd Salr

O) HATAT & THeUrd &l Fadadr & by & Afee Agcd Sl

[Question ID = 264]

1. a and d [Option ID = 1053]
2. a and b [Option ID = 1055]
3. a and c [Option ID = 1054]
4. b and d [Option ID = 1056]
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Correct Answer :-
* aand b [Option ID = 1055]

46) Who said that international affairs are ‘inhospitable’ to Liberalism?
forea @gT T 3RAG A AFG & TeH A HAT T §?
[Question ID = 233]

T @S [Option ID = 932]
TeAN BIFe

1. Joseph Nye /

2. Stanley Hoffman / [Option ID = 931]
el dlec .

3. Stephen Walt / [Option ID = 929]

4, Robert Keohane / L E : [Option ID = 930]

Correct Answer :-

= Stanley Hoffman / E [Option ID = 931]

47) Pandita Ramabai’s political ideas fused several linkages of:-

dﬁmmméa:m?ﬂﬁa:ﬁamﬁ@mmm%m

[Question ID = 282]

Sfa
1. Caste / [Option ID = 1126]
foeg ud, aiarg 3R snfa
2. Hinduism, Feminism and Caste / [Option ID = 1127]
3. Feminism / [Option ID = 1128]
adrarg 3R snfa
4, Feminism and caste / [Option ID = 1125]

Correct Answer :-

fReg ud, aliare AR i

= Hinduism, Feminism and Caste / [Option ID = 1127]

48) Ramanuja was associated with which among the following?

AR e 7 @ fad qeafaa O
[Question ID = 291]

1. ‘ufaishnavismfa 9 [option ID = 1163]

IT3EC]

2. Sikhism / [Option ID = 1164]

3. Shaivism / A [Option ID = 1161]

St

4, Jainism / [Option ID = 1162]

Correct Answer :-
= Vaishnavism / [Option ID = 1163]

49) Machiavelli is a modern philosopher because:-
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Al v aufas geifas ¢ e

[Question ID = 253]

38a Afdedr Fault QigY ATIGs &1 Farad T

1. He advocated double standards of morality. / [Option ID = 1011]
IA®T AT AT T AT AT H Feadd #T ol
2. He believed end justifies the means. / [Option ID = 1010]
3G% U A A Iegarg W 9T HaeA? R usdr o
3. He had adhered to a sentiment of nationalism in his writings. / [Option ID =
1009]

a q\A 30T & 9id g & Hqd A
4. He was nostalgic about Roman Republic. / [Option ID = 1012]

Correct Answer :-

3% YA oG A Tgarg ¥ S Haeae fg@ns usdr off

» He had adhered to a sentiment of nationalism in his writings. / [Option ID =
1009]

50) Ramabai converted to:-

THES & &g & IRdafda fear-
[Question ID = 283]

o A
1. Christianity / [Option ID = 1130]
qgar P2
2. Judaism / = [Option ID = 1132]
SEelld
3. Islam / [Option ID = 1129]

dteyr o &

Correct Answer :-
sars ud A
» Christianity / [Option ID = 1130]

4, Buddhism / [Option ID = 1131]

51) Rajukas were appointed by Ashok to perform which among the following functions.

Torel 1 fagfad sneie ganr e & & fasaea & e s aw=r -
[Question ID = 289]

USTEd & AR
1. Collection of revenue / [Option ID = 1153]

deTforas TR

2. Educational activities / [Option ID = 1155]

3. Judicial function / URE i [Option ID = 1156]

afis R

4. Religious activities / [Option ID = 1154]

Correct Answer :-

« Judicial function /° Ak F [Option ID = 1156]

52) Which Article of Indian Constitution provides greater autonomy to the J&K compare to the other states of India?

farafof@a saRda dfaura & edal #§ § Sl 7 FER & S & 317
e & 9% wargar yerer aar g7

collegedunia:s

India’s largest Student Review Platform




[Question ID = 304]

e 371

1. Article 371 / [Option ID = 1213]
m@?{'ﬁ: 365

2. Article 365 / [Option ID = 1215]
Hea=tie 375

3. Article 375/ [Option ID = 1216]
31@?#3‘& 370

4. Article 370 / [Option ID = 1214]

Correct Answer :-

313:?6?: 370

- Article 370 / [Option ID = 1214]

53) Wassenar arrangement seeks to bring transparency in the export of:-

1. Conventional arms

2. Dual-use goods

3. Small arms and light weapons
4. Military aircraft

Select the correct answer using the codes given below.

TR IR & Ifqiid vy Hiw & Fafa # urelRiar a= #) sikm 3 7 8-
1. GIORITT 3
2. SIEY wanT arelt |rt
3. DI 3R 3T o9 BUUR
4, T TUTHIT
#= oA T Pl F | T &1 T BY-

[Question ID = 217]
1. 3 and 4 only / 1,3 3R 4 Fa=
1

, 1,2,3aﬂd4/ 1,23 gur 4
land2only [/ 1 31 2 &Faa

[Option ID = 866]

[Option ID = 868]

3. [Option ID = 865]
, 23 and4 only / 2,3 3R 4 &aa “Option I = 867]

Correct Answer :-

[Option ID = 868]

54) Modern Indian Political thought is ‘modern’ because:-

mfees #RAE Ustelifds feda safav smafas § adifs
[Question ID = 281]

1. India was always modern / IR gHAT | 3 .:Iiél l % [Option ID = 1124]
2. Modern political ideals of egaulity and liberty influenced these thinkers /

AT AR T S Il RERT F s RaRa @ wid B o0 o
Seeiradl |EI A mfAsdr i e

3. Modernity begins in the nineteenth century / [Option ID = 1122]

fafeer smyfad & 3R Iegher & Imyfachar Fr R o)

4, The British were modern and brought modernity to India /
1121]

[Option ID =

Correct Answer :-
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= Modern political ideals of egaulity and liberty influenced these thinkers /

FAIAT 3R T S 3myfae AR A sa ROReE # wenfad A o000 - 1123

55) The ineffectiveness of the Protection of Civil Rights Act 1955 led to the enactment of which particular Act in late 1980s?

weFes 3 Afae wdew dae 1955 & Husaenear F 9 &9 95 &
faaTor & 1980 & 3id & Wicafed fhar

[Question ID = 300]

1. The Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act /

HAGAd FAd 3R 3T WREIT daari( daasR fr Fdeid) e

2. The Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act /

sagfaa snfa 3R seafaa saenfa (Rl & @3aon) e
39HFT GIETT VFT

3. The Consumer Protection Act / [Option ID = 1199]

AlAd ATOFR Ve FHT a0
4. Protection of Human Rights Act / [Option ID = 1198]

[Option ID = 1197]

[Option ID = 1200]

Correct Answer :-
+ The Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act /

sgfaa snfa 3R seafaa saenfa (Rt & @waon) e

56) Considering Isaiah Berlin's understanding of liberty, which of the following statements is not correct:-

anfarar afeled i Tadadar Taut Shedar & ¢@ df @Fa 7 § Fla a1 Fua @@
AR &-

[Question ID = 244]

1. Berlin makes a distinction between negative and positive liberty /

afelet & ASRIcHS 3R FHRIHAS Tadadl & did IFa Fedd febar
[Option ID = 973]
2. Negative liberty means not being prevented from other individuals to attain one’s goal /

APRIcHS Tdaadr &1 39 giar ¢ fdr afeg &7 39% o8 ued &{a § &5 ar
U]

3. The capacity or incapacity to fulfill one's desires belongs to the individual himself /
forelt cafaa &r seomst & gfd s & awar ar sawaT A & @fdd | AR

T ¢ [Option ID = 976]
U= &del cdiadd & THRIcHS Tddadl Ui &l ¢l

[Option ID = 974]

[Option ID = 1200]

4, The state can only secure positive liberty to the individual / [Option ID = 975]

Correct Answer :-
IS had cAiFd F GHRICHS TadAdT Jeid Hdr gl

» The state can only secure positive liberty to the individual / [Option ID =
975]

57) The term 'Washington Consensus’ is another way to describe:-

arftiees TeAfa giae & Uh 39 aOd & 0 ufenfa fRar o wear -

[Question ID = 228]

1. Neoliberalism and is based on the model of ‘development as modernization’ with a thrust to 'stabilize, privatize and liberalize’, /

ASERAlG duT ‘IMUfelehla]or & ¥0 A fahRT ' & Alsel W HRa ot
e, fashaor 3R 3gliaa g & ufa =g o [Option ID = 909]
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2. Multiculturalism focusing on a positive endorsement of diversity based on the right of different cultural groups to respect and recognition /

agﬂﬁf—é!am'L St fafauar & aeRcAs THYa W 3menia giar § v9 3§
fafiies areafas wapl & #OER & ufd FFaa @ THRar (recognition)
&1 oraaT 9 ImRa g g [Option ID = 912]

3. McDonaldization whereby global commodities and commercial and marketing practices associated with the fast food industry have come to dominate more
HFsress=ied e seliea At 3R caRs @ aenlisa yaer
GIFE $5 3NN & T Jaey gl ¢ aur sHH e Jaet W o
q 8w @a=er gar g

and more economic sectors. /[ [Option ID = 911]
4, Protectionism and is a set of policies pursued at the expense of other states that are believed to be in their own country’s short-term national interest. /

ERETUETGr duT T Afaal &1 e S 3eg G & Hod W IHUA QU &
youwiod fRal @ smaRa o [Option ID = 910]

Correct Answer :-
= Neoliberalism and is based on the model of ‘development as modernization’ with a thrust to ‘stabilize, privatize and liberalize'. /

Ad3GRAlG aur YRR & ¥ A @FRT & Aisa W 3raiRa S
g, fashiexor 3k sadiaa g & wfa @ of [Option ID = 909]

58) Which of the following is true of Marxism:-

a) Marx would have supported the liberal welfare state because it improved the condition of the proletariat.
b) Emancipation is impossible to achieve under capitalism.

c) Under capitalism, only the workers are alienated.

d) Capitalism is the system under which productive forces reach their peak.

frafaf@a d @ #19 w areiare @ wafta o« 2:-

@) AT 7 SERATE! SR 6T $ T a1 & i 3ud gder o1 ufRufa & gur ar g
@) YeitaTe & Siaia qfed & 96T I gTIa ST I¥Wa §

) Yeilarg & Sidiid dae HegR € rerifad HewqH P 7

o) Yoitare ag wore § forad Ianfea wfdaar s i uv uged! 81

[Question ID = 272]

F 3R @

1. aandc [Option ID = 1086]

2.aandd % AR [Option ID = 1085]
& IR @

J.aandb [Option ID = 1087]

g3ike

4.bandd [Option ID = 1088]

Correct Answer :-

iR g

« bandd [Option ID = 1088]

59) Match the provisions of the constitution with the countries from which they are borrowed:

A) DPSP 1) USA
B) Judicial Review 2) Ireland
C) Charter of Fundamental Right 3)France

D) Principle of Liberty, Equality and Fraternity 4) USA

Hfeur & uraur=t &1 oy 3= @ forar wan B, S90S = & Wy gufea w3-
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A) 359 & Hifa frdse g 1) gEHT

B) =ufie awiten 2) MRS
C) Hifere fieR &1 IR 3) Y
D) dal, THIET 3R S 4) guHY

[Question ID = 302]

1. A-1B-2C4D-3 [option ID = 1205]
2. A-2B-1C4D-3 155400 1D = 1206]
3. A-4B-2C-1D-3 (optign 1D = 1207]

A-2B-1C3D-4

4 [Option ID = 1208]

Correct Answer :-
. A2B-1CAD3 05400 1D = 1206]

60) Which one of the following statements is not correct?

fArfof@a & @ &l a1 &Ua T J6T 67

[Question ID = 53393]

1. Rawls and Dworkin are the proponents of the idea of equality of resources

UEed 3R sifda garel fr gAwar & [AER & Rcuasr §l
’ d [Option ID = 93559]

2. Rawls gave priority to the difference principle over the principle of fair equality of opportunity

3o o SgyaHwE Aeyid & HaEWl $ fAvuer FAear & 39 adgar e
el

[Option ID = 93557]

ARYT FJHEH AT ¥ § TEACT 3UETH § ST g
3. Martha Nussbaum is associated with the capability approach [Option ID = 93560]
4, The idea of ‘Complex Equality’ is associated with Michael Walzer

SAfes WATIAT (complex equality) Y fTAIRURT A& doak SIS g3l Bl

[Option ID = 93558]

Correct Answer :-
+ Rawls gave priority to the difference principle over the principle of fair equality of opportunity

ABed of HeHaHed Ui H Faasl 6T fF@sger FAEar & 39 alrgar fear

el [Option ID = 93557]

61) India has signed Comprehensive Economic Partnership Agreement (CEPA) with:-
1. USA

2. Singapore

3. Japan

Select the correct answer using the codes given below.

ARA & @@ WE gied gasitar (@5de) W grani Gas ary Far-
1. guyw

2.ﬁffa'ngt
3. ST

A1 T T FET & F 9 & T HE-
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[Question ID = 53391]

1,2 aur 3
1.1, 2 and 3 [Option ID = 93552]

1 2 dhdd
2.1 and 2 only i [Option ID = 93549]

3.2 and 3 only 2 3 3 Had

4. 3 only 3 dhdal [Option ID = 93550]

[Option ID = 93551]

Correct Answer :-

= 2 and 3 only 2 dur 3 A [Option ID = 93551]

62) In Marxian philosophy Mode of Production can be roughly equated with:-

AFEAET gdd # 3cqes Womel & 9iHd: RERT STar g-

[Question ID = 53396]

1. Forces of Production and Relations of Production 2€ 1G] shr erfdaar 3R 3cdige & Hae [Option ID = 93570]
3cUleA § 53 FRb

2. Factors of Production

3WRIFa aelt

[Option ID = 93569]

3. All the above [Option ID = 93572]

3ciced ohl dTeed
4, Means of Production [Option ID = 93571]

Correct Answer :-

+ Forces of Production and Relations of Production 3¢ J1Gd I erfdaar 3“'11-{ 3cqiced & Hae [Option ID = 93570]

63) Saptanga theory of the state was propounded by:-

TS § S5 e feura & gedd e
[Question ID = 290]

Shepll
1. Kalhana / [Option ID = 1158]

2. Kautilya / 4 [Option ID = 1157]
divTHCC

3. Banbhatta / ¥ [Option ID = 1159]

4, Kalidas / ; [Option ID = 1160]

Correct Answer :-

= Kautilya / [Option ID = 1157]

64) With which ideology would you associate the idea of state as an unnecessary evil?

e faaRuRT & IHad TsT H Th HeAaedd AT F FT H AT ST §?

[Question ID = 1017]

_ diHdig )
1. Communism / [Option ID = 4065]

. FTolchdldiq :
2. Anarchism / [Option ID = 4066]

HIHATAIG

3. Fascism / [Option ID = 4068]

IERAIG
4. Liberalism / [Option ID = 4067]
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Correct Answer :-

3HTSshdidiq

« Anarchism / [Option ID = 4066]

65) Negative liberty should be distinguished from the ‘conditions of its exercise,’ said:-

dhRIcHa Tadadl &I 3T waEr aia aREufa & e =@ eaar afev) a8
Fua fHaa Fer o-

[Question ID = 268]

nferar afel

1. Isaiah Berlin / [Option ID = 1070]
2. Thomas Hobbes / Gl [Option ID = 1069]
/ ATt I R [Option ID = 1072]

Siiet ¥gae fae

4. John Stuart Mill / [Option ID = 1071]

3. Karl Popper

Correct Answer :-

nfetar afela

« Isaiah Berlin / [Option ID = 1070]
66) Nehru is considered a secular thinker:-

AT TH AFoR [Has & T A I I § e

[Question ID = 287]

IGHT Ioold 3AdT HcASAT A Aear ¢
1. On account of his autobiography / [Option ID = 1147]

2. Because he was a Kashmiri pandit / ¥ @6 SN 93T ¥ [opti0n 1D = 1145]
3eglel TH®ToN Ustellfd ol o=l &l &

3. Because he was a politician. / [Option ID = 1148]
4. Because he believed that the state should not support any religion /

Fifdh 3aa faeara ar 6 T & T ofr g & gade adt aar wfge [Option ID = 1146]

Correct Answer ;-
» Because he believed that the state should not support any religion /

Fifeh 3T faeam oar fF U= & R ofr enf & gade 787 e ofge [Option ID = 1146]

67) The dictum, 'Imperialism is the highest stage of Capitalism' was propounded by:-

WHSIAIG, Ysiarg &1 3faH TRoT &, I5 U fhae widuiea faar or-

[Question ID = 235]

dr. olfele
1. V.I. Lenin / HT? [Option ID = 938]
S .
2. Andre Gunder Frank / = [Option ID = 939]
THAT3T doREA
3. Emmanuel Wallerstein / [Option ID = 940]
Hel A
4, Karl Marx / [Option ID = 937]

Correct Answer :-
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« V.L Lenin / ar. [Option ID = 938]

68) Who among the following can be considered as an exponent of procedural theory of justice?

frafaf@a # ¥ Fla vwems =T & Mg A 31 RcuiasR §?
[Question ID = 245]

.d Aemaa

1. C. B. Macpherson / [Option ID = 979]

THATANS HiC
2. Immanuel Kant / [Option ID = 980]

T 3%

Tth. .
3. F.A. Hayek / [Option ID = 978]

qae afsis

4, Robert Nozick / [Option ID = 977]

Correct Answer :-

uae s
» Robert Nozick / [Option ID = 977]

69) Who among the following can be justifiably called the first modern propounder of the idea of negative liberty?

fA=fafEa & @ #ia FFRcAF Tadaaar & @R &1 guw 3gfas fegasr
AT SITdT 87

[Question ID = 252]
ETG-H
1. Hobbes / [Option ID = 1005]

il

GIED
2. Locke / [Option ID = 1006]

Afdremaen

3. Machiavelli /

I
4, Mill / [Option ID = 1008]

[Option ID = 1007]

Correct Answer :-
gled
« Hobbes / [Option ID = 1005]

70) Who among the following gave a law about the relationship between electoral system and party system?

frfof@a # @ s gordl geufa a gelig geufa & & d@au & e e
foaa &1 widuea o §-

[Question ID = 208]

Tl 3139
1. Anthony Downs / [Option ID = 832]

2. Maurice Duverger / S [Option ID = 830]
A, o

) HJIOAT )
3. Seymour M, Lipset / [Option ID = 831]

Sarardr grefl

4. Giovanni Sartori / [Option ID = 829]

Correct Answer :-

» Maurice Duverger / S [Option ID = 830]
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71) Who among the following first modernized the tradition of Natural Law?

Wihfde Flefed T WRT & FAYUH Idfdsd e & A FF Sar g2

[Question ID = 261]

el

Elﬂa
1. Hobbes / [Option ID = 1042]

2. Locke / [Option ID = 1043]

Afrardelr
3. Machiavelli b. Hobbes c. Locke d. Marx / [Option ID = 1041]

4, Marx / [Option ID = 1044]

Correct Answer :-

St

+ Hobbes/ &°0  [Option ID = 1042]

72) Who among the following are the propagators of Capability approach?

fAFr A @ *la FaTHar 3URTH (capability approach) &1 RAGUTdFER 72
[Question ID = 237]

1. John Rawls and Robert Nozick / Hlel 3R Tae [
.oy A 3R 3Ec aa

Option ID = 945]

2. J.S. Mill and Amartya Sen / [Option ID = 947]

3. Martha Nussbaum and Amartya Sen / 2 3#{ ﬂﬂ [Option ID = 948]
4, Amartya Sen and Jurgen Habermas / el 3ﬂz 3 E [Option ID = 946]
Correct Answer :-

» Martha Nussbaum and Amartya Sen / = 3#{

[Option ID = 948]

73) Who among the following is credited for having discovered the ancient text Arthashastra?

frfaf@a & ¥ &Y urha oy ke & @ea &1 A Srar 82

[Question ID = 293]

1. K. P. Jaiswal / b4t ST [Option ID = 1170]

dr.dr aeror ,
2.P. V. Kane / [Option ID = 1172]

. [TATATEAT
3. R. Samasastry / [Option ID = 1169]

ST BT ,
4. R. G. Bhandarkar / [Option ID = 1171]

Correct Answer :-

K. TTATARAT _
« R. Samasastry / [Option ID = 1169]

74) Who amongst the following is the proponent of ‘World System Theory'?

Fafelfdd 7 & @i 9 caasy i%aﬂlﬁ & HOIdr %:?

[Question ID = 213]

fm?pﬁrmmﬁ?r

1. Immanuel Wallerstein. / [Option ID = 850]
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THAN HIC .
2. Immanuel Kant. / 9 [Option ID = 849]
3. Andre Gunder Frank. / [Option ID = 852]

4, Karl Marx. / el A ¢ [Option ID = 851]

Correct Answer :-

ﬁﬂwm

« Immanuel Wallerstein. / [Option ID = 850]

75) Consider the following statements about NPT and CTBT:-

1. India has neither signed NPT nor ratified it.
2. India has signed CTBT but not yet ratified it.

Which of the statements given above isfare correct.

AT 3R AEEE F eyl A Frafeaa sus W TR &2
1, wﬁmwwﬂawmmmﬁsﬁgﬁzm

2. SR & DONE T FEARR o BT W Y I e A R

SoTH W Hied AT FUA O 07

[Question ID = 215]

Neither 1nor2 / @r ar 1 3 am & 2

1, [Option ID = 860]
Both 1 siid 2 / 1 3R 2 2t

2. [Option ID = 859]

3. 1 Dﬂl}'/ dhael 1 [Option ID = 857]
2 only T

4, ) / - [Option ID = 858]

Correct Answer :-
1 Dﬂl?*'/ dael 1 [Option 1D = 857]

76) After split in Congress Party in 1969, the two parties that formed were:

1969ﬁmqﬁﬁ§trﬁ3m?aﬁ?r-aﬂﬁ#a‘rtrﬁa?ﬁ
[Question ID = 301]

Hiaw (TF) 3w (1)
1. Congress (S) & Congress (I) / [Option ID = 1203]
wag (3 IR FEF (IR)

2. Congress (0) & Congress (R) / [Option ID = 1204]

HEAT (30) g FAE (375)

3. Congress (0) & Congress (1) / [Option ID = 1201]

HIA (HR) dur HEE (TH)

4, Congress (R) & Congress (S) / [Option ID = 1202]
Correct Answer :-

A (3 3R FEE (3IR)
« Congress (0) & Congress (R) /

77) What does the concept Base mean in Classical Marxism?

ARART ATRIAIG A 3TUR (mean) &1 319 §-

[Question ID = 258]

[Option ID = 1204]

collegedunia:s

India’s largest Student Review Platform



1. Politics / [Option ID = 1032]

KNI ED

2. Economy / [Option ID = 1029]
3. Social structure / ULUECIR ST

HIE-HTT=AT
4, Superstructure / [Option ID = 1031]

[Option ID = 1030]

Correct Answer :-

» Economy / [Option ID = 1029]

78) What is the time period of the Third Wave of Democratization as explained by Samuel P. Huntington?

QA3 0. giaeet of b @R & AU alaaAllavor &7 AR opy &1 g
foram an-

[Question ID = 211]

(1945-1960)
1. [Option ID = 844]
5 (1826-1926)

B (1920-1930)

[Option ID = 841]

[Option ID = 843]
(1974-1989)
4, [Option ID = 842]

Correct Answer :-
(1974-1989)

79) What kind of vision is exhibited by Kautilya according to V.R Mehta?

d.3R AT & HAOR ifeea A &g @e fasar wefdia aidr @

[Question ID = 295]

HTeedarey

1. Idealist. / [Option ID = 1177]

SRR (WarAReH)
2. Pragmatic. / [Option ID = 1180]

TacadT (HIEHTelee)

3. Cosmopoalitan. / [Option ID = 1179]

HHeddIcHS
4, Syncretic. / [Option ID = 1178]

Correct Answer :-

SIERAN (WrATeH)

[Option ID = 842]

= Pragmatic. / [Option ID = 1180]

80) Which of the following is NOT a political work written by 1.S. Mill?

e & & sl & yodfas #fa Sow @ o 7 fodr 82
[Question ID = 362]

fafSahere 36 g USCH S FHA

1. Vindication of the Rights of Women /

[Option ID = 1448]
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amﬁamaﬁtﬁaﬁﬁ

2. The Subjection of Women / [Option ID = 1447]

s

3. On Liberty / 3ifer forael [Option ID = 1445]

4, Considerations on Representative Government / : ng el 3ol & Rusiaifea Iqeie [Option ID = 1446]

Correct Answer :-

» Vindication of the Rights of Women / e Q E » f\ [Option ID = 1448]

81) Which of the following is not a feminist argument:-

frafaf@a & & ola ar aded ab a8 &

[Question ID = 271]
1. The public-private divide has been used to marginalise women from public participation. /

gaSfaE-fasT &7 & Qe & e At & gdafas ggaifaar § affg

ol %I [Option ID = 1083]
2. Patriarchy is a system of structural domination that disadvantages women. /

fqerar va RN EREacAS TUIAar arell ST § S Afgeni & fore
ABACTAS G|

3. The goal of feminism is to dismantle patriarchy and establish matriarachy. /

aiae &1 @ag Agaar & @Ra avar IR Agaacas 9as 1 T FET

gl
4. Unequal sexual division of domestic labour is a source of women’s oppression. /

e A4H & A F favd Jage RAarea e Afgenst & awor & g
el

[Option ID = 1081]

[Option ID = 1082]

[Option ID = 1084]

Correct Answer :-
» The goal of feminism is to dismantle patriarchy and establish matriarachy. /

Aiare & ded Agaar & @iRd aal 3R AGHAcHS AT HI - TATIAT HLAT

&l [Option ID = 1082]

82) Which of the following is not an argument in favour of political obligation?

fAafaf@a 7 ¥ =la ar & oas gfica & a7 F a8 &2

[Question ID = 270]

1. We should obey the state because the state is powerful and can punish us. /
B TSI & T HaT I1pT e o AfFaenet § IR gA ag as ofr ¢
SET IR

2. We should obey the state because we have derived benefits from having lived under its rule. /

A ST & I XAl GIieT FHiie 5T & AR A gl §U eifead §Y gl

[Option ID = 1078]

[Option ID = 1079]

3. We should obey the state because we have given our tacit consent to do so. /
g3 ST & UTelel el 9IRT gHa Al TeAfa W e F e Bar §

4, We should obey the state because we expect others to do so. /
§A TSI &I qreid Hr AIfpT 4011 57 gk & ot a5 37 ad ¢ & ap o
T A [Option ID = 1080]

[Option ID = 1077]

Correct Answer :-
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= We should obey the state because the state is powerful and can punish us. /

§H ST & UTelel L&A1 IIeT i T ofFaemel & iR gA ag s ofr €

gahd! ol [Option ID = 1079]

83) Which of the following is a necessary characteristic of the state?

farafaf@aa & sla @ vsg & 3raas QRwar §-

[Question ID = 273]

1. Common race / Ueh {HTed ol [Option ID = 1091]

Tch AT HTHET )
2. Common language / [Option ID = 1089]

3. None of the above / o H—i‘t‘? Hﬁ [Option ID = 1092]
4, Sovereignty / W [Option ID = 1090]

Correct Answer :-

« Sovereignty / H'FI'SFIT [Option ID = 1090]

84) Which of the following statements accurately describes Plato’s theory of justice?

farfaf@a & @ &la a1 Fua et § 7w Ry & adfas avla aXar 8?
[Question ID = 254]

= it AafFaemel Har § AR AR g9 5 S g

1. Justice is what the strong can do, and the weak must endure. /
= 1014]
2. Justice obtains when inequality benefits the least-advantaged. /

AR dd Ui 61 ST IdT & 9 ATAATT TATST & FAGR dad & aHTiead
AT Bl

[Option ID

[Option ID = 1016]

=T Ycdd Safdd & @Rl HIA H9A Hacdl & fdded ol

3. Justice is doing one’s own duty as per one’s station of life. / [Option ID

= 1013]
R gaF v gae gl

4, Justice is being even. / [Option ID = 1015]

Correct Answer :-

I YA cafad & @Rl W9 39e acdl & foldgd ol

« Justice is doing one's own duty as per one's station of life. / [Option
ID = 1013]

85) Which of the following is the most important component of the intellectual movement called Enlightenment?

i@ # & #la ar dicfos sneaa ydaEe/ AT (Enlightenment) &

51 Halfde Agcayyl 3Hadd g
[Question ID = 255]
gofrarg
1. Capitalism / [Option ID = 1019]
2. Scientific Revolution / [Option ID = 1020]
faas/
3. Reason/Rationality / [Option ID = 1018]
4. Nationalism / < [Option ID = 1017]
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Correct Answer :-

IGGED
= Reason/Rationality / [Option ID = 1018]

86) The Shramamic view of political life:

TSTeilicier Siidel | S8 AAM0IS WORT & 3eJaR-
[Question ID = 279]

1. none of the abwe;"smi | EF“% Hﬁ [Option ID = 1116]
afgensd & Bufd ¥ 52 gae
ﬁ - [Option ID = 1113]

FEAvT & @il AT & 39 A WiReR W) HEe

3. questions the authority of Brahmins as rule makers / [Option ID = 1114]
4. provided an alternative to the Brahmincal world view / STEHAUTATGT faed faoR &7 fashed 9¥dd &l [Option ID = 1115]

2. questions the position of women /

Correct Answer :-

. provided an alternative to the Brahmincal world view ; STEFUTATGT faed fa=R &1 fased 9dd @& [option ID = 1115]

87) Who gave the catch’all model of party system?

fArafaf@a 7 @ s &7 e #iser 3w gt een Gan

[Question ID = 212]

[EHT
1. Geovanni Sartori / [Option ID = B47]

2. Maurice Duverger / ;‘f [Option ID = 845]

e R

3. Otto Kirchheimer / [Option ID = 848]

e a Qaad

4. Lipset and Rokkan / [Option 1D = 846]

Correct Answer :-

HieY R
= Otto Kirchheimer / [Option ID = 848]

88) The Kaladan transport project by India and Myanmar consists of which of the following modes of transport?

1. Roads

2. Railways

3. Shipping

4. Inland water transport

Select the correct answer using the codes given below.

R IR =AR & fo Faea gRaga sRASar 7 &g 919 & oRaga
guirelr 9¥ SR fear = -

1) dHs&h
2} Yea
3) g

4) asfa s aRaga

fArT & & |er &< & Thed W

[Question ID = 218]
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1.2.3and 4 1 T 4
1. / 23 @ [Option ID = 872]

1,2and3only / 12 gor 3 ¥aw
2. [Option ID = 869]

1.3and4only /' 1 3 gur 4 Faw

3
E,Eand-lunl}r/z 3 e 4 Faer

[Option ID = 870]
4 [Option ID = 871]

Correct Answer :-

1 3and4only /' 1 3 qur 4 &ae
; [Option ID = 870]

89) The 2+2 dialogue in bilateral relations between India and Japan refers to meetings attended by which two dignitaries of the two

countries?

Wﬁmimaﬂnﬁauﬁgvzﬂs‘fﬂﬁﬁIMﬁaﬁﬁﬁaﬁ#
ﬁaaﬂaanﬁagqﬂ?
[Question ID = 222]

1. Prime Minister and Defense Minister / 3-ﬁ? T HA [Option ID = 885]
JeTeAHAT 3 Isgafa
2. Prime Minister and President / [Option ID = 887]
R R FA [Option ID = 886]

facer wfag 3k & w@fag

4. Foreign Secretary and Defense Secretary / [Option 1D = 888]

3. Prime Minister and Foreign Minister /

Correct Answer :-

: facer wfaa 3k wam wfag _
= Foreign Secretary and Defense Secretary / [Option ID = 888]

90) The four fold programme of Socialist struggle in Lohia's Thought comprised of Angrezi Hatao (Banish English), Jati Todo (Liquidate

Caste), Dam Bandho (Fix Price). What was the fourth one?

difear & warerard) wud A 9 aR W srfwa § oilsh gersh, sy YSY, g qiel & wry-wry St Far U
[Question ID = 274]

1. Class division /

i-faduTe [Option ID = 1095)

2. Rural-urban divide /

areto-zedt fgurs= [Option 1D = 1096]

3. Himalaya Bachao (save Himalayas) /

fgamera ar=ait [Option 1D = 1093]
4, Stree-purush samanta (Gender Equality) /

TH-q%W THHT [Option ID = 1094]

Correct Answer :-
» Himalaya Bachao (save Himalayas) /

FRIGEECEIE [Option ID = 1093]
91) The Manusmrti was:-

e A w@faa §-
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[Question ID = 280]

1. A feminist code / [Option ID = 1120]
2. A code which reflected the stratification of society based on caste /

ol Efigar [SEd ofd & 3R W A & ST &) arr = g

[Option ID = 1119]

3. A sodial code of conduct / [Option ID = 1118]
i %
4, A penal code of conduct / [Option ID = 1117]

Correct Answer :-
= A code which reflected the stratification of society based on caste /

ot Wfar SR Sfd & IR 9 FAST & Talieor @ mw gl oo g

92) The 13" amendment has been a point of contention between India and Sri Lanka. The 13" amendment provided for:-

1. Establishment of provincial councils.
2. Taking action against the human rights violators
3. Creation of a second chamber in central legislature.

Select the correct answer using the codes given below.

AR IR Aed & &g 1397 Ty [ael F Fes 7 &1 g 1337 g &
ZaRT-

1) widr 9Rue &1 T a9aT & oo o

2) A HUFRT &I gAd o dlel & Wl HRER! & 3eod o

3) dgol dfeFa=’k A gdidT JeX & S
fArafaf@a et & & der &1 994 -

[Question ID = 223]

Fad 2 3R 3

1. 2and 3 only / [Option ID = 891]

chdol 1 :
2. 1only/ [Option ID = 889]

1,2, 3k 3

3.1,2and 3/ [Option ID = 892]

Fad 1 3 2

4, 1and 2 only / [Option ID = 890]

Correct Answer :-

= 1lonly/ . [Option ID = 889]

93) The Mahabharat is considered a political text because:-

HETHRA Udh JSteliice did Al Srdl § #ifh
[Question ID = 286]

g TAFEN TSTedifa S == a=ar &

1. It discusses contemporary politics / [Option ID = 1144]
Fif qG TF AEHA & [Option ID = 1141]

ag ARt & 5fAF | Farer 3oTar §
3. It questions the role of women / [Option ID = 1142]

a5 Toreiiiae efda & uebfa & I3 gfawr & sgd Har &

4, It raises dilemmas on the nature of political power /

2. It is an epic poem /

[Option ID = 1143]

Correct Answer :-
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o " qG Ttelifard ofed H 9Pfd ¥ I3 gfaur &1 segd T & .
= It raises dilemmas on the nature of political power / [Option ID = 1143]

94) The 'Clash of Civilization and New World Order' predict an ideological shift in the post-cold war period from:-

EATATH] &1 T30 (Faer 36 [@fdensaes) o a5 @ caaen &
At A 3 M ey wiel A e duRe Rve & A e a>r-

[Question ID = 227]

Toteiifas faarurr & 3nfds 3gRae & ot

1. Political ideology to economic liberalism / [Option ID = 905]

.  qoeita faERurT @ e AR @ B @@
2. Political ideology to culture and religion /
AT & -3 B RS

LY

[Option ID = 908]

3. Geopolitics to geo-Economics / [Option ID = 906]

. o TS R a1 H W .
4. Nation-State to Civilization / [Option ID = 907]

Correct Answer :-

- _ reefd faERuRT @ §5hfa R 9 B ® e
= Political ideology to culture and religion /

[Option ID = 908]

95) The Indian Ocean Rim Association (IORA) aims towards:-

1. Social development of Indian Ocean rim region.
2. Enhancing security and protection from piracy.
3. Trade facilitation.

Select the correct answer using the codes given below.

fore FEgrEER Re AT (10RA) &7 W@ 35T ¢

1. feeg g RA &7 & gAfes AwE
2. WIBAH! ¥ FI&TW I GI&TT S HWichged
3. &R Wicdgd

et PIs A & ol &1 IId P-

[Question ID = 221]

2 3R 3 Faa ,
1. 2and 3 only / [Option ID = 883]

12 3k 3

2.1,2and 3/ [Option ID = 884]

3. 1and20ny; 1 AR 2 T (000010 - ga)

1 3R 3 &aad _
4,1 and 3 only / [Option ID = 882]

Correct Answer :-

1,2 3k 3
« 1,2and 3/ [Option ID = 884]

96) In Indian context, the Vishaka Guidelines lay down the provisions related to which of the following?

AR Hes A weqd faemar feefoder sy afia Jradre 1 Sedd Rl o7
[Question ID = 299]

FRFUd # alIRE 3cdisa & Afgand & awaor

1. Protection of women from sexual harassment at workplace / [Option ID = 1193]
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faars # gu arliR® ffar & Afeonsit @ wwaior
2. Protection of women from sexual abuse within marriage / e
EﬂT’L LR R [Option ID = 1194]
deaigfa & foIv g0 arel IR-Fiefell SAARA AR & TaTor

4, Protection of women from trafficking for prostitution / [Option ID =
1196]

[Option ID = 1195]

3. Protection of women from domestic violence /

Correct Answer :-

| FRETT # aR& 3cdisa @ ARt & aaor
» Protection of women from sexual harassment at workplace /

[Option ID = 1193]

97) Who is associated with the work The Civic Culture (1963)?

g RAfaF Fear (1963) Fhdra e SIsT G631 &-

[Question ID = 210]

ATAT 315 @ asar adr [Option ID = 839]
3fas Srea 9 Afeus eAs

1. Thomas Dye and Sydney Verba /

2. David Easton and Gabriel Almond / [Option ID = 837]

3. Gabriel Almond and Thomas Dye / Maaer JTeds @ AN 31? [Option ID = 838]
AfeTer HeHs T Hser a4t

4, Gabriel Almond and Sydney Verba / [Option ID = 840]

Correct Answer :-

AfaTer 3rers g Aser a&t
= Gabriel Almond and Sydney Verba / [Option ID = 840]

98) Who is the author of the book "Anarchy, State, and Utopia?”
ToATehl, Te€ 5 TAMAT AHS Tras e A 82
[Question ID = 239]

: . Aeed :
1. Milton Friedman / [Option ID = 954]

2. Friedrich Hayek / [Option ID = 955]

~ Qates Sifda _
3. Ronald Dworkin / [Option ID = 953]

4, Robert Nozick / [Option ID = 956]

Correct Answer :-

Tae Aifoth
= Robert Nozick / [Option ID = 956]

99) Who is the author of provocatively titled article- "An Anti-Secularist Manifesto"?

frrafaf@a # @ 5w das & ow & 309+ s o E-dFafis
Aftheer §?

[Question ID = 205]

1. Rajeev Bhargava / [Option ID = 818]

mefig aGr

2. Ashish Nandy / [Option ID = 819]

3. T.N. Madan / i‘rm : [Option 1D = 817]

4. Akeel Bilgrami / [Option ID = 820]

collegedunia:s

India’s largest Student Review Platform




Correct Answer :-

+ Ashish Nandy / Fmefry o_'iff

[Option ID = 819]

100) Who is the author of The Discourse on Colonialism?

& Bvaidt 3ia FiefaafieH & oEs T g7

[Question ID = 277]

1. Kwame Nkrumah / g [Option ID = 1106]
3TehfaIT SHHS €

2. Archbishop Desmond Tutu / s [Option ID = 1108]
3. Aime Cesare / [Option ID = 1105]

Aol HSEl
4, Nelson Mandela / [Option ID = 1107]

Correct Answer :-

HH Ho
» Aime Cesare / [Option ID = 1105]
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